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Question Number : 2 Question Id : 630680316756 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. 

2. 

3. 

4. 

Question Number : 3 Question Id : 630680316757 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 4 Question Id : 630680316758 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
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Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 5 Question Id : 630680316759 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 6 Question Id : 630680316760 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3.
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4. 

Question Number : 7 Question Id : 630680316761 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 8 Question Id : 630680316762 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 9 Question Id : 630680316763 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. 

2. 

3. 

4. 

Question Number : 10 Question Id : 630680316764 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 11 Question Id : 630680316765 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. 

2. 

3. 

4. 

Question Number : 12 Question Id : 630680316766 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 13 Question Id : 630680316767 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1.
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2. 

3. 

4. 

Question Number : 14 Question Id : 630680316768 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 15 Question Id : 630680316769 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 16 Question Id : 630680316770 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 17 Question Id : 630680316771 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3.
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4. 

Question Number : 18 Question Id : 630680316772 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 19 Question Id : 630680316773 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3.
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4. 

Question Number : 20 Question Id : 630680316774 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 21 Question Id : 630680316775 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 22 Question Id : 630680316776 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 23 Question Id : 630680316777 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 24 Question Id : 630680316778 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 25 Question Id : 630680316779 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 26 Question Id : 630680316780 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
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1. 

2. 

3. 

4. 

Question Number : 27 Question Id : 630680316781 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 28 Question Id : 630680316782 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 29 Question Id : 630680316783 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2.
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3. 

4. 

Question Number : 30 Question Id : 630680316784 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. 

2. 

3. 

4. 

Question Number : 31 Question Id : 630680316785 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 32 Question Id : 630680316786 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. 

2. 

3. 

4. 

Question Number : 33 Question Id : 630680316787 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 34 Question Id : 630680316788 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Options :

1.
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2. 

3. 

4. 

Question Number : 35 Question Id : 630680316789 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 36 Question Id : 630680316790 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 37 Question Id : 630680316791 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2.



10/18/23, 1:14 PM

16/44

3. 

4. 

Question Number : 38 Question Id : 630680316792 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 39 Question Id : 630680316793 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 40 Question Id : 630680316794 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3  
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 41 Question Id : 630680316795 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3  
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 42 Question Id : 630680316796 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3  
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. 

2. 

3. 

4. 

Question Number : 43 Question Id : 630680316797 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 44 Question Id : 630680316798 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1.
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2. 

3. 

4. 

Question Number : 45 Question Id : 630680316799 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 46 Question Id : 630680316800 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 47 Question Id : 630680316801 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 48 Question Id : 630680316802 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 49 Question Id : 630680316803 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1.
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2. 

3. 

4. 

Question Number : 50 Question Id : 630680316804 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 51 Question Id : 630680316805 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 52 Question Id : 630680316806 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 53 Question Id : 630680316807 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 54 Question Id : 630680316808 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 55 Question Id : 630680316809 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2.
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3. 

4. 

Question Number : 56 Question Id : 630680316810 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 57 Question Id : 630680316811 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 58 Question Id : 630680316812 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 59 Question Id : 630680316813 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 60 Question Id : 630680316814 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 61 Question Id : 630680316815 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. 

2. 

3. 

4. 

Question Number : 62 Question Id : 630680316816 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 63 Question Id : 630680316817 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 64 Question Id : 630680316818 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. 

2. 

3. 

4. 

Question Number : 65 Question Id : 630680316819 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 66 Question Id : 630680316820 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 67 Question Id : 630680316821 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
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1. 

2. 

3. 

4. 

Question Number : 68 Question Id : 630680316822 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 69 Question Id : 630680316823 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 70 Question Id : 630680316824 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4.
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Question Number : 71 Question Id : 630680316825 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. 

2. 

3. 

4. 

Question Number : 72 Question Id : 630680316826 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
GFC drawings issued at construction sites are _____.
Options :
1. good for construction
2. gross functional components
3. geometrical fraction construction
4. golden fracture construction

Question Number : 73 Question Id : 630680316827 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
In an assembly drawing, which statement is true for the title block?
Options :
1. It is drawn in the middle of the sheet.
2. It is drawn at the top right hand corner of the sheet.
3. It is drawn at the right hand bottom corner of the sheet.
4. It is drawn at the left hand bottom corner of the sheet.

Question Number : 74 Question Id : 630680316828 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Identify the FALSE statement.
Options :
1. In third angle projection, top (plan) view is drawn above XY line.
2. In first angle projection, front (elevation) view is drawn below XY line.
3. In first angle projection, front (elevation)view is drawn above XY line.
4. In third angle projection, front (elevation) view is drawn below XY line.

Question Number : 75 Question Id : 630680316829 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of following is NOT shown by a general assembly drawing?
Options :
1. Details of missing components
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2. Detailed drawing of individual parts
3. Detailed drawing of sub-assembly
4. Assembly drawing of machine

Question Number : 76 Question Id : 630680316830 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Surface roughness on an engineering drawing is denoted by ___________.
Options :
1. pentagon
2. circle
3. semi-circle
4. inverted triangle

Question Number : 77 Question Id : 630680316831 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
________ is a used for profile levelling. 
Options :
1. Collinear method
2. Circular method
3. Circumferential method
4. Collimation method

Question Number : 78 Question Id : 630680316832 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Identify the odd one.
Options :
1. B-spline curve
2. Bezier curve
3. Ellipse
4. Hermite cubic curve

Question Number : 79 Question Id : 630680316833 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Bezier curve ______________.
Options :
1. passes through each and every data point except first and last
2. does not pass through all data points except first and last
3. passes through only first control point
4. passes through only last control point

Question Number : 80 Question Id : 630680316834 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Minimum _________ control points are needed to draw a quadratic B-spline curve.
Options :
1. four
2. two
3. one
4. three
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Question Number : 81 Question Id : 630680316835 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
For the curves and splines, which is the most desirable scenario?
Options :
1. Wiggles should be increased
2. Wiggles should be minimised
3. Curve should have infinite wiggles
4. Curve should be rough

Question Number : 82 Question Id : 630680316836 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT an analytic entity for a wireframe model?
Options :
1. Circle
2. Arc
3. Spline
4. Chamfer

Question Number : 83 Question Id : 630680316837 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
NURBS, a modelling approach stands for _______.
Options :
1. Notational Underestimated Recorded B-spline
2. Near Up Recorded B-spline
3. Non-negotiable Uniform Remedial B-spline
4. Non-Uniform Rational B-Spline

Question Number : 84 Question Id : 630680316838 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Identify the odd one with respect to type of lubrication system.
Options :
1. Vacuum sump lubrication system
2. Dry sump lubrication system
3. Wet sump lubrication system
4. Mist sump lubrication system

Question Number : 85 Question Id : 630680316839 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
IC engines are lubricated because of the _______ pumps.
Options :
1. positive velocity
2. negative displacement
3. positive displacement
4. negative velocity

Question Number : 86 Question Id : 630680316840 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
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Correct Marks : 1 Wrong Marks : 0.33

Options :
1. A-1; B-2; C-3
2. A-1; B-3; C-2
3. A-2; B-1; C-3
4. A-3; B-2; C-1

Question Number : 87 Question Id : 630680316841 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following material can potentially protect ferrous metal from rusting by galvanising process?
Options :
1. Zinc
2. Graphite
3. Cardboard
4. Tantalum

Question Number : 88 Question Id : 630680316842 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Necking phenomenon occurring during creep testing occurs during ________ stage.
Options :
1. primary creep
2. secondary creep
3. tertiary creep
4. quaternary creep

Question Number : 89 Question Id : 630680316843 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
In eutectoid reaction of iron carbon phase diagram, ______.
Options :
1. solid phases convert into two different solids
2. liquid phase converts into two different liquids
3. solid phase is converted into one solid and liquid phase
4. liquid phase is converted into one solid and liquid phase

Question Number : 90 Question Id : 630680316844 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
In ________, the same number of cations and anions are missing from lattice site.
Options :
1. Frenkel defect
2. Schottky defect
3. Route defect
4. Vale defect



10/18/23, 1:14 PM

32/44

Question Number : 91 Question Id : 630680316845 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. Schottky defect
2. Avalanche defect
3. Tunnel defect
4. Frenkel defect

Question Number : 92 Question Id : 630680316846 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
________ is a strengthening mechanism wherein material is made harder and stronger by plastic deformation.
Options :
1. Wise hardening
2. Coupon hardening
3. Work hardening
4. Blow hardening

Question Number : 93 Question Id : 630680316847 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Precipitation hardening is also known as ____.
Options :
1. cage hardening
2. age hardening
3. strain hardening
4. stress hardening

Question Number : 94 Question Id : 630680316848 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Identify the odd one with respect to types of surface treatment.
Options :
1. Peer carburising
2. Pack carburising
3. Ion carburising
4. Vacuum carburising

Question Number : 95 Question Id : 630680316849 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. A-1; B-2; C-3
2. A-1; B-3; C-2
3. A-2; B-3; C-1
4. A-3; B-2; C-1

Question Number : 96 Question Id : 630680316850 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R). 
(A): Austenite is the hardest microstructure of steel. 
(R): Austenite is the supersaturated solution of carbon in iron.
Options :
1. Both A and R are true
2. A is true, but R is false
3. Both A and R are false
4. A is false, but R is true

Question Number : 97 Question Id : 630680316851 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following microstructure imparts maximum hardness in steel ?
Options :
1. Austenite
2. Pearlite
3. Ferrite
4. Martensite

Question Number : 98 Question Id : 630680316852 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following holds true for function of skim bob in the casting process?
Options :
1. Helps in trapping the impurities
2. Helps in cooling of metal
3. Helps in diverging the metal
4. Helps in casting hollow products

Question Number : 99 Question Id : 630680316853 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Metal is fed in to the casting cavity by a _______.
Options :
1. puddle
2. havel
3. ladle
4. hopper
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Question Number : 100 Question Id : 630680316854 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Chills are placed in _______.
Options :
1. sprue
2. mould cavity
3. pouring basin
4. riser

Question Number : 101 Question Id : 630680316855 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a sand used in casting process?
Options :
1. Parting sand
2. Green sand
3. Loam sand
4. Leak sand

Question Number : 102 Question Id : 630680316856 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which rule is used for calculating the solidification time for the given volume of casting?
Options :
1. Namibear’s rule
2. Rockford rule
3. Chvorinov’s rule
4. Tolonov’s rule

Question Number : 103 Question Id : 630680316857 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
What is the stress type applied on a component during blanking?
Options :
1. Compressive stress
2. Tensile stress
3. Shear stress
4. Both tension and compression stress

Question Number : 104 Question Id : 630680316858 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a extrusion process?
Options :
1. Direct extrusion
2. Indirect extrusion
3. Hydrostatic extrusion
4. Inclined extrusion

Question Number : 105 Question Id : 630680316859 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
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Correct Marks : 1 Wrong Marks : 0.33
Select the correct option based on the given statements.

‘Punching/Blanking are similar process wherein punch removes small pieces of metal from the sheet’.


Statement A: If the small removed piece is discarded, the process is blanking.

Statement B: If the small removed piece is used and rest of the sheet is discarded, the process is punching.
Options :
1. Only statement A is correct
2. Only statement B is correct
3. Both statements A and B are correct
4. Neither statement A nor B is correct

Question Number : 106 Question Id : 630680316860 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Atomisation process in powder metallurgy primarily ___________.
Options :
1. produces powders
2. relives stresses
3. gathers atoms
4. sinters atoms

Question Number : 107 Question Id : 630680316861 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is true for the conventional powder metallurgy process?
Options :
1. Blending is done after sintering.
2. Sintering is done after blending.
3. Sintering is done before atomisation.
4. Atomisation is done after blending.

Question Number : 108 Question Id : 630680316862 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. A-3; B-1; C-2
2. A-1; B-3; C-2
3. A-1; B-2; C-3
4. A-3; B-2; C-1

Question Number : 109 Question Id : 630680316863 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of following are NOT alloys used for soft soldering?
Options :
1. Tin – Lead – Antimony
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2. Tin – Lead
3. Tin – Lead – Cadmium
4. Tin – Lead – Vanadium

Question Number : 110 Question Id : 630680316864 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Identify the odd one with respect to classification of welding process
Options :
1. Gas welding
2. Forge welding
3. Friction stir welding
4. Ultrasonic welding

Question Number : 111 Question Id : 630680316865 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a terminology of friction stir welding, a solid state welding process?
Options :
1. Tool shoulder
2. Pin radius
3. Pin length
4. Electrode grade

Question Number : 112 Question Id : 630680316866 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is an additive manufacturing technique?
Options :
1. Diluted enamel deposition
2. Direct energy deposition
3. Dribbled escalated deposition
4. Diverted energy deposition

Question Number : 113 Question Id : 630680316867 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R). 

(A): Material wastage is less in additive manufacturing route as compared to conventional manufacturing route. 
(R): Additive manufacturing is a layer by layer deposition technique.
Options :
1. Both A and R are false
2. A is true, but R is false
3. Both A and R are true
4. A is false, but R is true

Question Number : 114 Question Id : 630680316868 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
The cutting speed of a milling cutter is 31.4 m/min. Find the diameter of cutter if RPM is 100.
Options :
1. 100 mm
2. 10 mm
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3. 1000 mm
4. 1 mm

Question Number : 115 Question Id : 630680316869 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Chisels have a _________ cross-section.
Options :
1. square
2. triangular
3. semi-circular
4. octagonal

Question Number : 116 Question Id : 630680316870 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3  
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. A-1; B-2; C-3
2. A-2; B-1; C-3
3. A-2; B-3; C-1
4. A-3; B-2; C-1

Question Number : 117 Question Id : 630680316871 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R). 

(A): Three jaw chuck is known as self-centring chuck. 
(R): Each jaw in the three jaw chuck can be adjusted independently.
Options :
1. A is true, but R is false
2. Both A and R are true
3. Both A and R are false
4. A is false, but R is true

Question Number : 118 Question Id : 630680316872 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Select the correct option based on the given statements. 

‘A dimension is mentioned in a drawing as 25H7’. 

Statement A: 25 is the basic size. 
Statement B: H7 is the fit designation.
Options :
1. Only statement A is correct
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2. Only statement B is correct
3. Neither statement A nor B is correct
4. Both the statements are correct

Question Number : 119 Question Id : 630680316873 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. perpendicularity
2. position
3. parallelism
4. flatness

Question Number : 120 Question Id : 630680316874 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following symbols is for surface profile?
Options :

1. 

2. 

3. 

4. 

Question Number : 121 Question Id : 630680316875 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a grade of slip gauges?
Options :
1. Grade 2
2. Grade 1
3. Grade 0
4. Grade 5

Question Number : 122 Question Id : 630680316876 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
The nozzles for abrasive jet machining process is made from _______.
Options :
1. aluminium
2. graphite
3. tungsten carbide
4. copper

Question Number : 123 Question Id : 630680316877 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
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Correct Marks : 1 Wrong Marks : 0.33
What is the material removal mechanism in laser beam machining process?
Options :
1. Cavitation
2. Melting and vaporisation
3. Mechanical shearing
4. Electrolysis

Question Number : 124 Question Id : 630680316878 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT an advantage of CNC machining system?
Options :
1. Improved quality
2. Flexibility
3. Increased scrap rate
4. Increased productivity

Question Number : 125 Question Id : 630680316879 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Exponential smoothing is a ________ type of forecasting method.
Options :
1. qualitative
2. market trial
3. market research
4. quantitative

Question Number : 126 Question Id : 630680316880 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Identify the correct statement.
Options :
1. Exponential smoothing method is used for forecasting when the horizon is large.
2. Exponential smoothing method is used for inventory control when the horizon is large.
3. Exponential smoothing method is used for repair control when the horizon is large.
4. Exponential smoothing method is used for forecasting when the horizon is very small/limited.

Question Number : 127 Question Id : 630680316881 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
The forecasting method which gives equal weightage to each of recent observation is ________.
Options :
1. exponential smoothing
2. moving average method
3. simplex method
4. queuing method

Question Number : 128 Question Id : 630680316882 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
In EOQ model, holding costs are defined as __________.
Options :
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1. cost incurred due to delay
2. cost incurred for transporting it to final assembly
3. cost incurred for storing the item
4. cost incurred during ordering

Question Number : 129 Question Id : 630680316883 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Cost of insurance is included in the ______.
Options :
1. maintenance cost
2. production cost
3. repair cost
4. carrying cost

Question Number : 130 Question Id : 630680316884 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Linear programming method is used for ______.
Options :
1. optimising production processes
2. enabling research and development
3. reducing delivery times
4. reducing scrap

Question Number : 131 Question Id : 630680316885 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following data is NOT used for transportation model?
Options :
1. Origin of supply
2. Destination
3. Weight of component
4. Unit cost of shipping

Question Number : 132 Question Id : 630680316886 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT an assumption for transportation model?
Options :
1. Items are homogenous
2. Weight of the component is constant
3. Shipping costs per unit are same irrespective of quantity
4. Only one route is chosen

Question Number : 133 Question Id : 630680316887 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
There ________ on critical path.
Options :
1. are maximum floats
2. are no float
3. are only two floats
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4. is only one float

Question Number : 134 Question Id : 630680316888 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. None are critical paths
2. All are critical paths
3. P – Q – S
4. P – R – S

Question Number : 135 Question Id : 630680316889 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Float in PERT/CPM is a measure of _______.
Options :
1. project flow
2. project performance
3. flexibility in duration for an activity
4. activity performance

Question Number : 136 Question Id : 630680316890 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is a technique of PERT?
Options :
1. Node on node
2. Activity on node
3. Node on arrow
4. Activity on activity

Question Number : 137 Question Id : 630680316891 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Project crashing in PERT refers to __________.
Options :
1. deletion of the non-critical activity
2. deletion of activity node
3. deletion of activity arrow
4. reduction in activity duration

Question Number : 138 Question Id : 630680316892 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
________ is used for solving linear programming problems.
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Options :
1. Ranging method
2. Simplex method
3. Cross method
4. Balking method

Question Number : 139 Question Id : 630680316893 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is a type of queuing model?
Options :
1. Basking
2. Roger
3. Reneging
4. Buffon

Question Number : 140 Question Id : 630680316894 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Identify the biggest disadvantage of explicit scheme in a time-dependent problem.
Options :
1. Limited time-step size
2. Small grid size
3. Reneging solution
4. Marching solution

Question Number : 141 Question Id : 630680316895 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
In which conditions condition does the Newton Raphson method fail?
Options :
1. When equation is linear
2. When equation in non-linear
3. When function approaches infinity
4. When function approaches zero

Question Number : 142 Question Id : 630680316896 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Convergence of the Newton Raphson method depends on ________.
Options :
1. final derivative
2. initial assumed value
3. equation used
4. diagonal used

Question Number : 143 Question Id : 630680316897 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
If f(x) = 2x – 3, then f-1(x) = ?
Options :
1. 2x + 3
2. (x/3) + 2
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3. 1/(2x – 3)
4. (x + 3)/2

Question Number : 144 Question Id : 630680316898 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
The number of degree of freedom is calculated as number of nodes _______ number of dependent variables.
Options :
1. multiplied by
2. divided by
3. added to
4. subtracted from

Question Number : 145 Question Id : 630680316899 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Degree of freedom governs the ________ of the model.
Options :
1. solution time
2. accuracy
3. system
4. equation

Question Number : 146 Question Id : 630680316900 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT an element of relationship in state space formulation?
Options :
1. Input
2. Output
3. State of system
4. Synergy of system

Question Number : 147 Question Id : 630680316901 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following defines the correct meaning of a model of a system?
Options :
1. Constructing a conceptual framework that describes a system
2. Calculating the degrees of freedom
3. Computing the system requirements
4. Calculating the system framework

Question Number : 148 Question Id : 630680316902 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
For equation y = 5logx, what will be the inverse?
Options :
1. X = 5 Log y
2. X = y (1/log5)

3. X = 5 (1/log y)

4. X = Y Log 5
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Question Number : 149 Question Id : 630680316903 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a method for finding non-linear root?
Options :
1. Bisection method
2. Regula falsi method
3. Octant method
4. Secant method

Question Number : 150 Question Id : 630680316904 Is Question Mandatory : No Calculator : None Response Time : N.A Think 
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 
Correct Marks : 1 Wrong Marks : 0.33
Which of the following methods has the highest order of convergence ?
Options :
1. False position method
2. Octant method
3. Secant method
4. Newton Raphson method




